
 
ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 

49/24-A, MINTO ROAD, PRAYAGRAJ. 

       SESSION JULY – DECEMBER 2024 
ASPEUS CORRESPONDENCE COURSE - SEM – 8 (MADAHS (HONOUR-II) 

  BASICS OF HUMAN BODY (BHB-8) 

TIME – 2.00 HRS       MAX MARKS-100 

     (ONLINE EXAM) 

     SECTION – 1 

   Short questions 
      

Attempt only four out of five (in about 50 words).  4x10= 40 

1. What is T-lymphocyte? Discuss.
T-lymphocyte

2. Write short notes on ‘nutrition of embryo’. 
ए

3. What is Migraine? 
Migraine

4. What is immunity lymphocyte? 

ŮितरƗा िल̱फोसाइट (Immunity lymphocyte) Ɛा है? 

5. What do you understand about neural tube? Discuss about 
notochord also. 
Ɋूरल Ǩूब के बारे मŐ आप Ɛा समझते हœ? नोटोकॉडŊ के बारे मŐ भी चचाŊ करŐ । 
 

6. Write short notes on ‘Formation of Embryo’. 

     
(Section-2) 

   Objective questions 
    



All compulsory.       30x2 = 60 

1. In AIDS, ‘A’ stands for - 
(a) Auto     (b) Autonomic 
(c) Automatic    (d) None 
AIDS   ‘A’  
(a) Auto     (b) Autonomic 
(c) Automatic    (d) 

2. Teratology is the study of ______anomalies - 
(a) Congenital   (b) Postnatal  
(c) Both    (d) None  
Teratology  
(a) Congenital   (b) Postnatal  
(c)     (d) 

 

3. At the time of implantation of zygote endometrium is in___ phase- 
(a) Nodular    (b) Secretory 
(c) Developing   (d) None 

endometrium ___ phase 
(a) Nodular    (b) Secretory 
(c) Developing   (d) 

 

4. _____wave is used in Echo Cardiography - 
(a) Alpha    (b) Beta  
(c) Ultrasound   (d) None 
Echo Cardiography  
(a) Alpha    (b) Beta  
(c) Ultrasound (d)  

5. Test related to Heart problem is _____cardiography - 
(a) Electro    (b) Echo   
(c) Both    (d) None 

_____cardiography  
(a) Electro    (b) Echo  
(c)     (d)  

6. HCG is a type of - 
(a) Enzyme    (b) Hormone  
(c) Both    (d) None 



HCG
(a)     (b) 
(c) (d) 

7. The nerve cells for each five senses develop in brain by __weeks- 
(a) 19 & 20    (b) 24 & 25   
(c) 17 & 18    (d) None 

 
(a) 19 20   (b) 24 25  
(c) 17 18   (d) 

8. Disease related to genetic disorder is - 
(a) Sickle Cell anemia  (b) Cystic fibrosis  
(c) Metastatic Melanoma (d) All of these 

 
(a) Sickle Cell anemia  (b) Cystic fibrosis  
(c) Metastatic Melanoma (d) 

9. ______Ions are the basis of MRI scanning - 
(a) H+    (b) OH--    
(c) Both    (d) None 
MRI  
(a) H+    (b) OH--  
(c)    (d) 

 

10. From 9th week onward period of intrauterine life is known as  
_____period- 
(a) Germinal   (b) Foetal   
(c) Both    (d) None 

 
(a) Germinal   (b) Foetal 
(c)  (d) 

 

11. In ELISA, ‘A’ stands for - 
(a) Alisa    (b) Assay   
(c) Antigen    (d) None 
ELISA ‘A’  
(a) Alisa    (b) Assay    
(c) Antigen (d) 

 



12. Type of ‘T’ Lymphocytes - 
(a) 2     (b) 3   
(c) 4     (d) None 
T  
(a) 2     (b) 3   
(c) 4    (d) 

 

13. The weight of embryo during 13 and 14 weeks is ___ounce – 
(a) 1     (b) 2  
(c)  3     (d) None  
13 14  
(a) 1     (b) 2  
(c) 3    (d) 

14. Dizygotic twins are of ______sex - 
(a) Same    (b) Different   
(c) Both    (d) None  

(Dizygotic)  
(a)    (b)  
(c)  (d) 

15. Professional killer are ___cell – 
(a) Th    (b) Ts   
(c) Tc     (d) None  

 
(a) Th    (b) Ts 
(c) Tc     (d) 

16. Hashimoto disease is the disease related to - 
(a) Lungs    (b) Pancreas  
(c) Thyroid    (d) None 

 
(a)     (b)  
(c) (d) 

17. Functioning of digestive system is developed in between 
_____weeks - 

(a) 2 - 3    (b) 13 - 14  
(c) 22 - 24    (d) None 

 
(a) 2 - 3    (b) 13 - 14 
(c) 22 - 24    (d) 



 

18. _______ is a process though which an embryo gets fixed  
and embedded within the endometrium of uterus - 
(a) Implantation   (b) Fertilization 
(c) Ovalution   (d) None 

 
(a) Implantation   (b) Fertilization  
(c) Ovalution  (d) 

19. Zygote derive their nourishment from - 
(a) Ova    (b) Primary Oocyte  
(c) Sperm     (d) None 

 
(a)     (b)   
(c)      (d) 

20. Electro Encephalography is related to - 
(a) Heart    (b) Lungs  
(c) Brain    (d) None 
Electro Encephalography  
(a)     (b)  
(c) (d) 

21. Laparoscope is the study of - 
(a) Uterus    (b) Stomach 
(c) Urethra    (d) All  

 
(a)     (b)   
(c)   (d) 

 

22. Malignant tumors are - 
(a) Benign    (b) Cancerous  
(c) Both    (d) None 
Malignant tumor  
(a) Benign    (b) Cancerous  
(c)    (d) 

23. Blastocyst has about ____ cells - 
(a) 30    (b) 60   
(c) 90     (d) None 



 
(a) 30    (b) 60  
(c) 90  (d) 

24. Immunotherapy is a specialized treatment procedure involve  
_____of immune responses, to achieve therapeutic effects – 
(a) Suppression   (b) Augmentation  
(c) Both    (d) None 

 
(a) (b)   
(c)     (d) 

25. The length of Umlical cord - 
(a) 50+5 cm   (b) 40+5 cm   
(c) 30+5 cm   (d) None 
Umlical cord  
(a) 50+5 cm   (b) 40+5 cm 
(c) 30+5 cm  (d) 

26. After fertilization Zygote reaches in uterine cavity as - 
(a) 16 cell stage   (b) 8 Cell stage   
(c) 32 Cell stage   (d) None

 
(a) 16 cell stage   (b) 8 Cell stage 
(c)  32 Cell stage  (d) 

27. Polygraphy is ____ - 
(a) Lie detector  (b) For monitoring of stages of sleep

 (c) Both   (d) None  
 

(a)  (b) 
 (c)    (d) 

 

28. In Embryonic life Brain is developed by - 
 (a) Chromosomes  (b) Neural tube  
 (c) Fallopian tube  (d) None 

(Brain)  
(a)    (b)  
(c)  (d) 

 



29. _____ is a type of cancer - 
(a) Malanomas   (b) Bipomas  
(c) Typhoid    (d) None  

 
(a)     (b) 
(c) (d) 

30. In CAT test ‘A’ stands for - 
(a) Auto    (b) Angio 
(c  ) Axial    (d) None 
CAT ‘A’  
(a) Auto    (b) Angio  
(c) Axial (d) 

…………………….. 



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 
49/24-A, MINTO ROAD, PRAYAGRAJ. 

         SESSION JULY – DECEMER 2024  

ASPEUS CORRESPONDENCE COURSE - SEM – 8 (MADAHS (HONOUR-II)) 

       CHINESE ACUPRESSURE (CA-8) 

TIME – 2.00 HRS        MAX MARKS-100 

      (ONLINE EXAM) 

           SECTION – 1 

                         (Short Questions) 

            ( ) 

Attempt only four questions out of following six:  4x10=40 

Qu.1. Write short note about Diagnosis by examination of eye. 

Qu.2. Write about deficiency of blood causes eye problem. 

 
 

Qu.3. Write the symptoms and treatment protocol of Kidney essence 
deficiency. 

   
Qu.4. Write the symptoms of excess heat in Gall Bladder. 
 

Qu.5. Write the part of eye Sclera, Tear gland, Retina and cornea related 
internal organ. 

 Sclera, Tear gland, Retina  cornea
  

Qu.6. Write treatment protocol of low back pain with pain in both legs. 
   

 (Section-2) 



              Objective questions 
           

All compulsory.         30x2 = 60 

(1)      Pain in leg will be treated by - 
(a)  ND - 1    (b) ND -  2   
(c) ND - 3    (d) None 

(a)  ND - 1    (b) ND -  2     
(c) ND - 3   (d) 

(2)  Eye lids are related to - 
(a)   Gall Bladder   (b) Spleen   
(c)  Large Intestine     (d) None 

  
(a)      (b) 
(c)     (d)  

(3)  Kidney is related to eye part - 
(a)  Eye lid      (b) Iris    
(c) Pupil     (d) None 

  
(a)     (b)     
(c)   (d) 



 (4)  Outer part of eye lid related problem is treated by - 
(a)  TW – 23    (b) TW – 4    
(c) TW – 2    (d) None 

  
(a) TW – 23    (b) TW – 4  
(c) TW – 2   (d) 

(5)  Pain in Eye ball will be treated by - 
(a)  GB – 23    (b) GB - 5    
(c) GB – 6    (d) None 
Eye ball   

(a) GB – 23    (b) GB - 5   
(c)  GB – 6 (d) 

 
(6)  Yellowness of eye indicates - 

(a) Humid heat   (b) Coldness    
(c) Dryness    (d) None

  

(a)    (b)   

(c)  (d)  

(7)  Local point for knee pain is - 
(a)  St –36    (b) St – 20 
(c) St – 10    (d) None 

Local   

(a)  St – 36    (b) St – 20 
(c) St – 10  (d) 

 
(8)  Corners of the eye is related to - 

(a) Lungs    (b) KIdney   
(c) Heart    (d) None

  

(a)  (b)   

(c)  (d) 

 



(9)  Dry eye indicates - 
(a)  Liver yin deficiency  (b) Stomach Qi excess 
(c) Lungs Qi excess   (d) None 

  

(a)   (b) Qi  

(c)  Qi  (d)  

 
(10) Treatment point for problem of eye brow is - 

(a)  UB - 2    (b) UB - 20  
(c) UB – 30    (d) None 

  

(a)  UB – 2    (b) UB - 20  
(c) UB – 30 (d) 

(11) Who should care your eyes? - 
(a)  Ophthalmologists  (b) Cardiologists  
(c) Radiologists   (d) None 

  
(a)  Ophthalmologists  (b) Cardiologists  
(c) Radiologists   (d)  
 

(12) Which organ stores blood - 
(a)  Large Intestine`   (b) Kidney    
(c) Liver     (d) None 

 
(a)     (b)  
(c)    (d)  

(13) Speech disorder will be treated by - 
(a)  H - 5     (b) H - 8  
(c) H – 2     (d) None 

 
(a) H - 5    (b) H - 8 
(c)  H - 2  (d) 



 

(14) Blurred vision is due to - 
(a)  Qi excess    (b) Liver blood deficiency 
(c) Cold condition   (d) None 

(a) Qi    (b)    
(c)  (d) 
 

(15) Night blindness is - 
(a)  Excess type   (b) Cold type   
(c) Deficiency type   (d) None 

 
(a)   (b)  
(c)  (d) 
 

(16) Low back pain will be treated by - 
(a)  Si – 3 UB - 62   (b) Si – 8 UB - 10  
(c) Si – 4 UB - 18   (d) None 

 
(a)  Si – 3 UB - 62   (b) Si – 8 UB - 10  
(c) Si – 4 UB – 18   (d) 
 

(17) Poor memory and pale tongue indicates - 
(a)  Excess condition  (b) Heat condition   
(c) Deficiency of blood  (d) None 

 
(a)    (b)    
(c) (d) 
 

(18) Influential point for blood is - 
(a) UB – 17    (b) UB - 5 
(c) UB - 6     (d) None 

(Influential)  
(a) UB - 17   (b) UB - 5  
(c) UB - 6 (d)  



 

(19) Burning in the sole will be treated by - 
(a)  GB – 42    (b) GB - 4      
(c) GB – 2    (d) None 

 
(a)  GB – 42    (b) GB – 4   
(c) GB – 2   (d)  
 

(20) Floater in the eye and side of tongue is purple may be due to - 
(a) Cold in Lungs   (b) Liver blood stagnation 
(c) Cold in Stomach   (d) None  

 
(a)   (b)   
(c)  (d) 

(21) Swelling on knee will be treated by - 
(a)  JD – 1 ST - 45   (b) JD – 2 ST - 10  
(c) JD – 3 ST - 15   (d) None 

 
(a) JD – 1 ST - 45   (b) JD – 2 ST - 10  
(c) JD – 3 ST - 15  (d) 

(22) Pain in tooth will be treated by - 
(a) Ly-2     (b) Ly- 8  
(c) Ly - 10    (d) None 

 
(a)  Ly - 2     (b) Ly - 8  
(c) Ly - 10 (d) 

(23) Opening of Liver is - 
(a)  Mouth    (b) Eye  
(c) Tongue    (d) None  

 
(a)       (b) 
(c) (d) 



 

 
(24) Twitching of the eye in old age may be due to - 

(a)  Liver blood deficiency  (b) Cold in stomach   
(c) Heat in Lungs   (d) None 

 
(a)    (b)    
(c)   (d)  

 
(25) Neck stiffness will be treated by - 

(a)  JD - 2    (b) JD - 3   
(c) JD - 1    (d) None 

 
(a)  JD - 2   (b) JD - 3 
(c) JD - 1   (d) 
 

(26) Facial paralysis may be due to - 
(a)  Dryness    (b) Heat   
(c) External wind cold  (d) None 

(a)     (b) 
(c) (d) 

(27) Eye related problem will be treated by - 
(a) Ly - 10    (b) Ly – 2a   
(c) Ly – 8    (d) None 

 
(a)  Ly – 10    (b) Ly – 2a
(c) Ly – 8   (d) 
 

(28) Bulging of eye indicates - 
(a)  Hyperthyroidism   (b) High Cholesterol  
(c) Hypoglycemia     (d) None  

 
(a) Hyperthyroidism   (b) High Cholesterol  
(c)  Hypoglycemia (d)  



 

 
(29) Distal point for face is - 

(a) Li – 8    (b) Li - 7 
(c) Li – 4    (d) None 

 
(a)  Li - 8     (b) Li - 7  
(c) Li – 4 (d)  

(30) Heat in eye will be treated by - 
(a)  Liv - 8     (b) Liv - 2   
(c) Liv - 10    (d) None  

 
(a) Liv - 8     (b) Liv - 2  
(c) Liv - 10 (d) 
   …………  

 



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 

49/24-A, MINTO ROAD, PRAYAGRAJ. 

                         SESSION JULY – DEC 2024  

 ASPEUS CORRESPONDENCE COURSE-SEM – 8(MADAHS- (HONOUR-II)) 

               AYURVEDIC  ACUPRESSURE (AA-8) 

TIME – 2.00 HRS         MAX MARKS-100 

      (ONLINE EXAM) 

           SECTION – 1 

              (Short questions) 

            ( ) 

Attempt only four questions out of six:     4x10=40 

Qu. 1. Write the functions of Left and Right Brain 
 

 
Qu.2. Show these points in diagram – Both SF – 7/8 RLHM - 47↓38↑ 

 Both SF – 7/8 RLHM - 47↓38↑ 
 

Qu.3.  Write short notes on Gyri, Sulci and Fissure. 
Gyri, Sulci  Fissure

Qu.4. Show these points in diagram – Rt IF – 4th Spm - 036↑459↓. 
 Rt IF – 4th Spm - 036↑459↓  

 
Qu.5. Make the diagram of nerve cell – Write its parts in diagram. 

 
 

Qu.6. Show these points in diagram – Both MM – 01368↑24579↓ 
 Both MM – 01368↑24579↓

  (Section-2) 
            Objective questions 
           

All compulsory.          30x2 = 60 



 

(1) LMM – 7/8 Br (OF) – 036↑459↓ treatment is used for - 
(a)  Leg pain    (b) Arm pain   
(c) Weak immunity   (d) None 
LMM – 7/8 Br (OF) – 036↑459↓
(a)     (b)  
(c)   (d) 
 

(2) Treatment for Sore throat is - 
(a)  *Lt Thumb - 3↓4↑  (b) *Lt Thumb - 5↓6↑  
(c) *Lt Thumb - 1↑2↓  (d) None 

 
(a) *Lt Thumb - 3↓4↑  (b) *Lt Thumb - 5↓6↑ 
(c)  *Lt Thumb - 1↑2↓  (d) 

(3)  Protocol used to set navel is - 
(a)  25↓17↑    (b) LMM – 245↓37↑   
(c) 34↓56↑    (d) None 

 
(a)  25↓17↑    (b) LMM – 245↓37↑    
(c) 34↓56↑    (d) 

(4)  Carpus callosum will be treated on - 
(a) Both IF    (b) Both thumbs   
(c) Both MF     (d) None 

 
(a)    (b)     
(c)   (d) 

(5) Treatment of tooth number 7 in left upper jaw will be - 
(a)  NCH 5    (b) NCH 8  
(c) NCH 7    (d) None 

 
(a)  NCH 5    (b) NCH 8  
(c) NCH 7    (d) 

(6) Treatment of diabetes will be done on - 
(a)  Both IF P jts   (b) Both IF V jts  
(c) Both SF V jts    (d) None 

 
(a) Both IF P jts   (b) Both IF V jts 
(c) Both SF V jts   (d) 

 



(7) Treatment given for Infection will be Lt Thumb – all LVM - - 
(a)  3↓4↑     (b) 0↑9↓ 
(c) 5↑6↓     (d) None 

Lt Thumb – all LVM -  
(a)  3↓4↑     (b) 0↑9↓  
(c) 5↑6↓    (d) 
 

(8) As per time acupressure energy of date 25 is - - 
(a) 3      (b) 5  
(c) 4     (d) None

 -
(a) 3      (b) 5  
(c) 4   (d) 
 

(9) Treatment for lower back pain will be on - 
(a)  Lt RF 1/2 Spm   (b) Lt RF 4/5 Spm  
(c) Lt RF 6/7 Spm   (d) None 

 
(a)  Lt RF 1/2 Spm   (b) Lt RF 4/5 Spm 
(c) Lt RF 6/7 Spm   (d)  

 
(10) Frontal lobe disorder will be treated on - 

(a)  Rt RF all phalanx  (b) Rt MF all phalanx  
(c) Rt IF all phalanx   (d) None 

  
(a) Rt RF all phalanx   (b) Rt MF all phalanx 
(c) Rt IF all phalanx   (d) 

 
(11) Treatment of Anxiety and depression will be done on - 

(a)  Both RF 7/8 RLHM  (b) Both SF 7/8 RLHM   
(c) Both MF 7/8 RLHM  (d) None  

 
(a) Both RF 7/8 RLHM  (b) Both SF 7/8 RLHM 
(c) Both MF 7/8 RLHM (d) 

(12) Treatment to increase platelets will be done on - 
(a)  Both RF    (b) Both MF  
(c) Both SF    (d) None 

 
(a)    (b)   
(c)    (d) 
 

(13) Treatment for Renal failure will be done on - 
(a) Rt RF – all LVM   (b) Rt IF – all RLHM   
(c) Lt SF  - all LHM   (d) None  



 
(a) Rt RF – all LVM   (b) Rt IF – all RLHM 
(c) Lt SF  - all LHM (d) 
 

(14) Treatment for constipation will be on - 
(a)  Rt SF 7th Spm   (b) Rt SF 8th Spm 
(c) Rt SF 5th Spm   (d) None 

(a) Rt SF 7th Spm   (b) Rt SF 8th Spm  
(c) Rt SF 5th Spm   (d) 

(15) Pus in both ears will be treated on - 
(a)  Both SF P jts   (b) Both IF P jts  
(c) Both MF P jts   (d) None  

 
(a) Both SF P jts   (b) Both IF P jts 
(c) Both MF P jts (d) 

(16) Left parietal lobe disorder will be treated on - 
(a)  Lt SF all jts   (b) Lt MF all jts   
(c) Lt RF all jts   (d) None  

 
(a) Lt SF all jts   (b) Lt MF all jts
(c) Lt RF all jts   (d) 

(17) Which treatment is for Pleurisy - 
(a)  Both IF -2nd Spm  (b) Both RF -3rd Spm  
(c) Both SF -1st Spm  (d) None 

 
(a) Both IF -2nd Spm  (b) Both RF -3rd Spm
(c) Both SF -1st Spm (d) 

(18) Rt Thumb – 0/1, 0/2 RLVM – 036↑459↓ is the treatment for - 
(a) Prostate enlargement  (b) Leg pain  
(c) Low back pain   (d) None 
Rt Thumb – 0/1, 0/2 RLVM – 036↑459↓  
(a)   (b)  
(c)    (d) 

(19) Treatment of Breathlessness will be done on - 
(a)  Both MF V jts   (b) Both RF P jts   
(c) Both SF K jts   (d) None  

 
(a) Both MF V jts   (b) Both RF P jts 
(c)   Both SF K jts (d) 



(20) Treatment for nasal blockage will be on - 
(a) Both MF P jts   (b) Both RF P jts 
(c) Both SF P jts   (d) None 

- 
(a) Both MF P jts   (b) Both RF P jts 
(c) Both SF P jts   (d) 

(21) F.No. 3/4/5 – 3rd Spm – 14↑23↓ is the treatment for - 
(a)  Hip pain    (b) Head pain  
(c) Gas and acidity   (d) None 
F.No. 3/4/5 – 3rd Spm – 14↑23↓  
(a)    (b)   
(c) (d) 

(22) Temporal lobe is plotted on - 
(a) Both RF all jts   (b) Both SF all jts  
(c) Both IF all jts   (d) None  

 
(a) Both RF all jts   (b) Both SF all jts  
(c) Both IF all jts   (d) 

(23) Treatment of Urine infection will be done on - 
(a)  Rt IF – 6th Spm   (b) Rt IF – 4th Spm   
(c) Rt IF – 8th Spm   (d) None  

 
(a) Rt IF – 6th Spm   (b) Rt IF – 4th Spm
(c) Rt IF – 8th Spm (d) 

(24) F.No. 1 to 4 – 4th Spm – 24↓36↑ treatment is for - 
(a)  Hair fall    (b) Knee pain   
(c) Cold & cough   (d) None 
F.No. 1 to 4 – 4th Spm – 24↓36↑  
(a)    (b)  
(c)   (d) 

(25) Treatment to stop bleeding is - 
(a)  34↓56↑    (b) 12↑56↓  
(c) 34↑56↓    (d) None  

 
(a) 34↓56↑    (b) 12↑56↓   
(c)  34↑56↓     (d) 

(26) On both SF which lobe of the brain is plotted - 
(a)  Temporal lobe   (b) Occipital lobe  
(c) Parietal lobe   (d) None 

 
(a)     (b) 
(c)  (d) 



(27) Treatment of Epileptic seizures will be - 
(a) 036↓459↑    (b) 12↑56↓   
(c) 129↓056↑    (d) None 

 
(a) 036↓459↑    (b) 12↑56↓  
(c) 129↓056↑  (d) 

(28) Protocol for ESR is - 
(a)  36↓24↑    (b) 36↑45↓   
(c)  24↓56↑    (d) None  
ESR  
(a) 36↓24↑    (b) 36↑45↓ 
(c) 24↓56↑    (d) 
 

(29) Treatment for disturbed sleep is - 
(a) 3↑4↓     (b) 5↓6↑ 
(c) 7↓8↑     (d) None  

 
(a)  3↑4↓     (b) 5↓6↑  
(c) 7↓8↑    (d)  

(30) Lt SF all LHM – 036↑459↓ is treatment for - 
(a)  Lungs disease   (b) Heart disease  
(c) Spleen disease   (d) None  
Lt SF all LHM – 036↑459↓  
(a)    (b)   
(c)    (d)  

         ……….. 


